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Annotations

Annotation Meaning

/ End of a section

Caret Omission, equal to a minor error
H wavy line Minor error

H line Serious error

REP Repeated error

CON Consequential error

Highlight Omitted/wrong breathing

Principles for interpreting generic descriptors for unseens

1.A minor error (ME) constitutes:
a. avocabulary error in an inflected word, where all endings are rendered correctly — but Serious Error when the substitution
completely ruins the sense
b. a single error in an inflected noun or verb ending
c. the omission of a small word which does not significantly affect the meaning
d. an error in word order which affects the meaning
2.A serious error (SE) constitutes:
a. more than 1 minor errors in a single word
b. the omission of a significant word
c. a missed construction
3.Any number of errors in a single word add up to no more than one serious error
4.Bracketed alternatives must be ignored if correct, but penalised if incorrect
5.Incorrect irrelevances must be ignored
6.Award 5 marks if there is up to 1 minor error
7.Award 4 marks if there are up to 2 minor errors (or the equivalent)
8.Award 3 marks if there are 3-4 minor errors (or the equivalent) - BUT more than half the section is still correct
9. Award 2 marks if half the section is correct as subdivided in the standardisation notes
10. Award 1 mark if at least one unit of sense is rendered correctly: an inflected word with all its endings correct, or a prepositional phrase; odd
words out of context cannot be awarded credit
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Principles for interpreting generic descriptors for prose composition

1. Any single error within a word is minor
2.Any number of errors in a single word add up to no more than one serious error
3. The omission of an inflected word is a serious error — of an uninflected word a minor error
4. Accents are not expected, but breathings are:
a. add up all the wrong/missing breathings at the end of the whole question
b. ignore up to 2 wrong/missing breathing
c. 3+ wrong/missing breathings are a serious error
5.Award 6 marks if there is up to 1 minor error
6.Award 5 marks if there are up to 3 minor errors (or the equivalent)
7.Award 4 marks if there are 4 minor errors (or the equivalent)
8.Award 3 marks if there are 5+ minor errors (or the equivalent)
9. Award 2 marks if about a 3" of the sentence is correct
10. Award 1 mark if at least one word is completely correct
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Section A
Question Answer Mark Guidance
Content Levels of response
The passage has been [5] Correct translation (as
divided into 14 sections each | agreed at standardisation)
worth 5 marks. Award up to 5 | with one minor error allowed.
marks per translated section
according to the 5-mark [4] One serious error or two
marking grid. minor errors, otherwise the
meaning is conveyed.
This is not a definitive [3] Most of the meaning
translation. Acceptable conveyed, but several errors.
alternatives will be discussed
at standardisation, but [2] Half the meaning
examiners should be ready conveyed, the rest seriously
to accept any translation that | flawed
accurately renders the
meaning. [1] A minority of meaning
1 i 100 d¢ Aynoddov Bvovtog OTEQ TG TOAEwS, elmev O 5 Accept: when he sacrificed conveyed
pavTic 0Tt EmBovAnv! tiva dpatvorev? ot Oeol. 'V“”C?r_ error: when he had _
sacrificed [0] No elements of meaning
While Agesilaos was sacrificing on behalf of the state, the Q?r(:gf gr?oar(;j \:veovljelgll?r(ljight (L:gg\rg?é?gell? gtrz:;’;ltlon 0
prophet said that the gods revealed a conspiracy. reveal
Minor error: ‘a’ prophet N.B. Consequential errors
.| ¢mel d¢ mAAW £0vev, ETL detvoTeQa Edn Tax LeQdd 5 Minor error: ‘back’ should not be penalised.

datveoOat

When he sacrificed again, he said that the sacred signs
appeared even more terrible.

Minor error: ‘sacred signs’
(without definite article)
¢t with épn: ME

¢t with patveoBar: ME
more terribly: ME
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Question Answer Mark Guidance
Content Levels of response
Hi. | kad peta v Buoiavt katayoe Vel Tig TEOG TOUG 5 g with wrong
E€POOLGS® ETUPROVANV! KAl TOV 1YEUOVA TOL TTOAYATOG agreement/omitted: ME
Kwddwva.
And after the sacrifice, someone exposed a conspiracy to the
ephors, and Cinadon as the leader of the affair.
V. | 00tog d’ v veaviag, 00 HévtoL TV ZNaQTiat@y. 5 ‘Spartans’: ME
£00EVWV OE TV EPORWVe TIWGS TAVTA YEVIOETAL,
This was a young man, but not one of the Spartiates. And
when the ephors asked how this would happen,
V. | elmev 0 eloayyeidag” 0t 0 Kivddwv ayaywv avtov eig S) keAgvol = he would order:
TV &yopav, aplOpnoatd keAevol 0dooL elev LagtiaTol ME
&V 1) AyooQ. omdooL = as many as: ME
the informer said that Cinadon, having led him to the
market-place, ordered him to count how many Spartiates
there were in the market-place.
Vi. | ‘kai &y, " €dn), ‘aoOunoact Pacidéa te kal Ehogouct kai | O :the’,4<§h|$/|r|§: ME
% 99 4 204 as’ 40:
AAAOLG WS’ TEOOAQAKOVTH, IQOUNV a5 about 40: OK
“And I,” he said, “having counted the king and ephors and o)og /ormtted: ME
about forty others, asked: NQOHMV: check for REP from
section 1v
Vii. | “duax Tt pe Tovtovg, @ Kwvddwv, ékéAdevoag aoibunoad;,” 6 | 5 e omitted: SE
o¢ eime- exéAevoag : check for REP
from section v
"Why, Cinadon, did you ask me to count these men?' And
he said:
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Question Answer Mark Guidance
Content Levels of response
viii. | “rovtoug voulé oot moAepiovg eivat, tovg &’ &AAovg 5 | think, he thinks: SE
TLAVTAS OVHHAXOVG, TTAEOV 1) TETQAKIOXIALOVG OVTag €V T1) you think: ME
Gryood.”” ntAéov 1N: 1 x SE if omitted
“Believe that these men are your enemies, and that all the
others are your allies, being more than four thousand in the
market-place.””
IX. | drcovoavteg d¢ Tavta ol oot oUk VOGS EAaBov TOV S ovk: SE if omitted
Kwadwva £éAafov: accept took, caught,
arrested
Having heard this, the ephors did not capture Cinadon
immediately
X. | 6tLovk 1)decav OTIOOOV TO TEAYHA i), KAl AkoLOAL 5 Ot = so that/that: SE

newToV ¢BovAovto oL Kivadwvog

because they did not know how great the affair was, and
they first wanted to hear from Cinadon

omnooov: check REP from
section v

nioaypo: check REP from
section iii

o0 Kivadwvog: ME if
translated in the next section
ein: accept was, might be,
may be, would be

el omitted: ME
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Question Answer Mark Guidance
Content Levels of response
Xi. | oltwveg elev ol ovumpdooovteg, mEiv avTovg aloBéobal 5 oltwveg = whoever: ME,
OtL pepmvovtal, which certain men: ME
elev omitted: ME
who were the conspirators, before they realised that they ol omitted: ME
had been exposed, motv = until: ME
oltwveg elev ol
ovumEAcoovTeG = who was
working with: 2 x MEs
Xii. | tva un) pOyworv. émel d¢ EANPON 6 Kivddwv kai 5
NAéyxeto!
in order that they should not escape. And when Cinadon
was captured and questioned,
Xiil. | xal OpoAdyeL mavta, TéAog avTtov fjpovto T BovAotto S ti fovAoLTo T TA TEACTWV
TAVTA TEACOWV. = why he wanted to do these
things: 1 ME + 1 CON
and he admitted to everything, they finally asked him what neovto: check REP from
he wanted by doing this. section iv, vi
ovAotto = he would want:
ME; he planned: ME; he
would plan: SE
Xiv. | 00 dmekotvato, ‘undevog floowv etvat év Aaxedaipove” | S ‘noone to be inferior in
Sparta’: SE
And he replied, “To be inferior to no one in Sparta.” Sngone 's inferior in Sparta:
‘never’, ‘no longer’: SE
‘than nothing’: OK
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Section B
Question Answer Mark Guidance
Content Levels of response
2 The passage has been [5] Correct translation (as
divided into 6 sections each agreed at standardisation)
worth 5 marks. Award up to 5 | with one minor error allowed.
marks per translated section
according to the 5-mark [4] One serious error or two
marking grid. minor errors, otherwise the
meaning is conveyed.
There are many acceptable
ways of translating the above | [3] Most of the meaning
sentences into correct Greek. | conveyed, but several errors.
Acceptable alternatives will
be agreed at standardisation, | [2] Half the meaning
but examiners should be conveyed, the rest seriously
ready to accept any Greek flawed
that accurately renders the
meaning. [1] A minority of meaning
conveyed
i KAt ALovuoOdWEOG PETATEUTETAL TV AOEADTV IV Eunv | D eig =in: ME _
€1g TO deoUWTNELOV, yuvaika £QVTOL OVOAV. [0] No elements of meaning
conveyed; no relation to
And Dionysodorus sent for my sister, who was his wife, Greek at all
(to come) to the prison. N.B. Consequential errors
ii 5 ‘that she had arrived’: SE

mvOopévn O’ ékelvn dpkvettarl kat Alovuoodwog td te
KTNHATA T £€avToL dL€0eTO! e vt €d0KeL,

And when she heard, she came; and Dionysodorus,
divided up his possessions as he thought fit,

avt@ omitted: ME
w¢ =how: ME
Kktpata = money: ME

should not be penalised.
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Question Answer Mark Guidance
i | xai mept Ayopdtov tovtov EAeyev dTL altiog v ToL 5 ¢uol omitted: ME
Oavdtov, kal €éméokNTITE? EHOL KAl TQ AdEAPQ TG OtL=because: ME
£avto, ‘guilty of death’: ME
‘worthy of death’: SE
and he said about this man Agoratus that he was
responsible for his death, and commanded me and his
own brother,
IV | kai toig dirolg maot, TiHwEELV UTEQ £avToL AyOQaToV: S) TIMWQELV = to avenge
KAL Th) YUvaukl ) EauTtov EmEoKNTTE 2, Agoratus: ME, to avenge on
Agoratus: ME
and all his friends to take vengeance on Agoratus on his
behalf; and he commanded his own wife,
V| vouiCwv a0ty kvetv? €€ éavton, €av YévnTaL avTn 5 T yevouévw =boy, child,
nadlov, A&yev T yYevouévw baby: OK; him when he
comes of age vel sim: OK; to
believing her to be pregnant by him, if she should bear a the becoming man: ME; what
child, to tell the child had happened: ME; of the
happenings: SE
avtr) omitted: ME
Vi | dttov matéoa avTob Aydpatog ATékTeve, Kal keAevewy | D ws Ppovéa dvta = so that he

TIHWEELY WG Ppovéa dvta.

that Agoratus had killed his father, and to order him to
take vengeance on him as being the murderer.

would be: SE

as a murderer: ME

as being a/the murderer: OK
as if he were/was a
murderer: ME

by being a murderer: ME
being as a murderer: ME

10
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Question Answer Mark Guidance
Content Levels of response
3 Each sentence is worth 6 [6] Correct translation (as
marks. Award up to 6 marks | agreed at standardisation)
for each sentence according | with one minor error allowed.
to the 6-mark marking grid.
[5] Minor errors only in
There are many acceptable syntax or accidence.
ways of translating the
English sentences into [4] Rather more errors, but a
correct Greek. One example | good proportion of sentence
for each sentence is given. correct.
Acceptable alternatives will
be agreed at [3] Around half the accidence
Standardisation, but and syntax correct.
examiners should be ready
to accept other versions that | [2] Accidence and syntax
accurately render the seriously flawed
meaning into Greek.
[1] A very little correct Greek
a The sailors announced that the enemy had sailed into the 6 Accept all three indirect
harbour. statement constructions. [0] No correct Greek at all
oi vautai yyelAav OTI oi TToAepiol €TTAeucay / gigeTTAeucAY
€ig TOv Aipeva.
b The messenger was sent in order to say what had 6 Accept subjunctive, optative
happened. or future participle in the
purpose clause.
0 AyyeAog ETTeuON iva Ta yevoueva / OTI / Ti éyeveTO €iTTOL.
c We must obey the words of the just king. 6
O¢1 nuag 1eIBecBbal Toig Tou dikalou BacIAewg AoyoIG.

11




June 2016

F371 Mark Scheme
Question Answer Mark Guidance
Content Levels of response
d If the guards had pursued the slaves, they would have 6
caught them.
€i oi uAaKeg Toug douAoug £diwEav, EAafov av auToug.
e This is the young man to whom | gave the money. 6
oUTOG £0TIV O VEQVIAG W TA XPNMATA £DWKA.

12
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